

# On Linear and Positive Operators

DANIEL FLORIN SOFONEA  
 University "Lucian Blaga"  
 Department of Mathematics  
 Dr. I. Rațiu Street, No. 5-7, Sibiu  
 ROMANIA

*Abstract:* In order to approximate function  $f : [0, \infty) \rightarrow \mathbb{R}$ , with  $|f(x)| \leq Mx^\alpha$  for  $M = M(f) > 0$  and  $x > 0$ , we introduce the approximation operators  $\mathcal{F}_n : f \rightarrow \mathcal{F}_n f$ , with

$$(\mathcal{F}_n f)(x) = \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx-1} (1-t)^n f\left(\frac{t}{1-t}\right) dt, \quad x > 0, \alpha > 0,$$

where  $n \geq n_0$  with  $n_0 = [\alpha] + b + 1$  and  $n \in \mathbb{N}^*$  - be fixed. Our aim is to find some properties for the above operator.

*Key-Words:* Approximation Theory, Linear Positive Operators

## 1 Introduction

Let  $Y_\alpha$  linear space of all function

$$f : [0, \infty) \rightarrow \mathbb{R},$$

with the property that  $M$  exists,  $M = M(f) > 0$  and  $\alpha > 0$  such that  $|f(x)| \leq Mx^\alpha$ , for all  $x > 0$ . We define the operators  $\mathcal{F}_n : f \rightarrow \mathcal{F}_n f$ , where  $n \geq n_0$ ,  $n_0$  is noted,

$$(\mathcal{F}_n f)(x) = \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx-1} (1-t)^n f\left(\frac{t}{1-t}\right) dt, \quad (1)$$

where  $x > 0, \alpha > 0$  and  $n \geq n_0$  with  $n_0 = [\alpha] + b + 1, n \in \mathbb{N}^*$  - fixed.

## 2 Main Results

In the following we prove if  $f \in Y_\alpha$ , then it's image of  $f$  that is  $\mathcal{F}_n f \in Y_\alpha$ .

**Theorem 1** *If  $(\mathcal{F}_n)_{n \geq n_0}$  are operators defined by (1) and  $f \in Y_\alpha, |f(x)| \leq M(f)x^\alpha, \alpha > 0, x > 0$  then it exists  $M(\mathcal{F}_n f) > 0$  so that  $\forall x > c > 0$  we have*

$$|(\mathcal{F}_n f)(x)| \leq M(\mathcal{F}_n f)x^\alpha,$$

where  $M(\mathcal{F}_n f) = M(f)e^{\frac{2\alpha^2}{b\sqrt{c}}}$

**Proof:** We have successively

$$|(\mathcal{F}_n f)(x)| \leq$$

$$\begin{aligned} &\leq \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx-1} (1-t)^n \left| f\left(\frac{t}{1-t}\right) \right| dt \leq \\ &\leq M \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx-1} (1-t)^n \left(\frac{t}{1-t}\right)^\alpha dt = \\ &= M \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx+\alpha-1} (1-t)^{n-\alpha+1-1} dt = \\ &= M \frac{\Gamma(nx+n+1)\Gamma(nx+\alpha)\Gamma(n-\alpha+1)}{n!\Gamma(nx)\Gamma(n+nx+1)}. \end{aligned}$$

So, we have

$$|(\mathcal{F}_n f)(x)| \leq M \frac{\Gamma(n-\alpha+1)\Gamma(nx+\alpha)}{\Gamma(n+1)\Gamma(nx)} \quad (2)$$

In the following we use the next theorem

**Theorem 2 (Bohr & Mollerup)** *There is only one function  $g : (0, \infty) \rightarrow (0, \infty)$  which verifies*

1.  $g(1) = 1$
2.  $g(x+1) = xg(x)$
3.  $\ln g$  is convex on  $(0, \infty)$ ,

then  $g(x) = \Gamma(x), \forall x > 0$ .

From theorem 2 it follows that for all  $0 < x_1 < x_2 < x_3 < \infty$  we have

$$[x_1, x_2, x_3; \ln \Gamma] \geq 0, \quad (3)$$

or

$$(\Gamma(x_2))^{x_3-x_1} \geq (\Gamma(x_1))^{x_3-x_2} (\Gamma(x_3))^{x_2-x_1} \quad (4)$$

We choose  $0 < x_1 = z + 1 - \alpha < x_2 = z + 1 < x_3 = z + 2 < \infty$ . From (4) we have

$$(\Gamma(z + 1))^{1+\alpha} \geq (\Gamma(z + 1 - \alpha))((z + 1)\Gamma(z + 1))^\alpha$$

so

$$\frac{\Gamma(z + 1)}{\Gamma(z + 1 - \alpha)} \leq (z + 1)^\alpha, \quad \forall z + 1 > \alpha > 0. \quad (5)$$

We choose  $0 < x_1 = z - \alpha < x_2 = z + 1 - \alpha < x_3 = z + 1 - \alpha < z + 1 < \infty$ , it follows

$$(\Gamma(z + 1 - \alpha))^{1+\alpha} \geq \left(\frac{\Gamma(z + 1 - \alpha)}{z - \alpha}\right)^\alpha \Gamma(z + 1),$$

so

$$\frac{\Gamma(z + 1 - \alpha)}{\Gamma(z + 1)} \leq \frac{1}{(z - \alpha)^\alpha}, \quad \forall z > \alpha > 0. \quad (6)$$

From (5) and (6) we have

$$\frac{1}{(z + 1)^\alpha} \leq \frac{\Gamma(z + 1 - \alpha)}{\Gamma(z + 1)} \leq \frac{1}{(z - \alpha)^\alpha}, \quad (7)$$

for all  $z > \alpha > 0$ . We choose in (4)  $0 < x_1 = nx < x_2 = nx + \alpha < x_3 = nx + \alpha + 1 < \infty$ , it follows

$$\left(\frac{\Gamma(nx + \alpha + 1)}{(nx + \alpha)}\right)^{\alpha+1} \leq (\Gamma(nx))(\Gamma(nx + \alpha + 1))^\alpha,$$

so

$$\frac{\Gamma(nx + \alpha + 1)}{\Gamma(nx)} \leq (nx + \alpha)^{\alpha+1}, \quad \forall x > 0, \alpha > 0,$$

$$\frac{(nx + 1\alpha)\Gamma(nx + \alpha)}{\Gamma(nx)} \leq (nx + \alpha)^{\alpha+1},$$

follows

$$\frac{\Gamma(nx + \alpha)}{\Gamma(nx)} \leq (nx + \alpha)^\alpha, \quad \forall x > 0, \alpha > 0. \quad (8)$$

We choose in (4)  $0 < x_1 = nx - 1 < x_2 = nx < x_3 = nx + \alpha < \infty$ , it follows

$$\Gamma(nx)^{\alpha+1} \leq \left(\frac{\Gamma(nx)}{nx - 1}\right)^\alpha \Gamma(nx + \alpha),$$

so

$$0 < (nx - 1)^\alpha \leq \frac{\Gamma(nx + \alpha)}{\Gamma(nx)}, \quad (9)$$

with  $nx - 1 > 0$  and  $\alpha > 0$ . From (8) and (9) we have

$$(nx - 1)^\alpha \leq \frac{\Gamma(nx + \alpha)}{\Gamma(nx)} \leq (nx + \alpha)^\alpha, \quad (10)$$

for all  $x > \frac{1}{\alpha}$  and  $x > 0, \alpha > 0$ . So using (7) and (10) in (2) we obtain

$$\begin{aligned} |(\mathcal{F}_n f)(x)| &\leq M(f) \frac{(nx + \alpha)^\alpha}{(n - \alpha)^\alpha} = \\ &= M(f) x^\alpha \frac{(nx + \frac{\alpha}{x})^\alpha}{(n - \alpha)^\alpha} = M(f) x^\alpha \left(1 + \frac{\alpha + \frac{\alpha}{x}}{n - \alpha}\right)^\alpha = \\ &= M(f) x^\alpha \left(1 + \frac{\alpha + \frac{\alpha}{x}}{n - \alpha}\right)^{\frac{n - \alpha}{\alpha + \frac{\alpha}{x}} \frac{\alpha + \frac{\alpha}{x}}{n - \alpha} \alpha}, \end{aligned}$$

so

$$\begin{aligned} |(\mathcal{F}_n f)(x)| &< M(f) x^\alpha e^{\frac{\alpha^2(1 + \frac{1}{x})}{n - \alpha}} < \\ &< M(f) x^\alpha e^{\frac{2\alpha^2}{\sqrt{x}(n - \alpha)}}. \end{aligned} \quad (11)$$

We fix  $b \in \mathbb{N}^*$  and define

$$n_0 = [\alpha + b + 1] = [\alpha] + b + 1 \geq \alpha + b + 1.$$

Next  $n \geq n_0$  it follows  $n - \alpha \geq b + 1$ , that is

$$\frac{1}{n - \alpha} \leq \frac{1}{b + 1} < \frac{1}{b}.$$

From (11) it follows

$$\begin{aligned} |(\mathcal{F}_n f)(x)| &\leq M(f) x^\alpha e^{\frac{2\alpha^2}{\sqrt{x}b}} \leq \\ &\leq M(f) x^\alpha e^{\frac{2\alpha^2}{b\sqrt{c}}} =: M(\mathcal{F}_n f) x^\alpha, \end{aligned}$$

with  $M(\mathcal{F}_n f) = M(f) x^\alpha e^{\frac{2\alpha^2}{b\sqrt{c}}}$ .

Next we calculate  $(\mathcal{F}_n e_j)(x)$ , where  $e_j(x) = x^j$ .

We obtain successively

$$\begin{aligned} (\mathcal{F}_n e_j)(x) &= \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx+j-1} (1-t)^n dt = \\ &= \frac{\Gamma(nx + n + 1)}{\Gamma(nx) n!} B(nx + j, n - j + 1) = \\ &= \frac{\Gamma(nx + n + 1) \Gamma(nx + j) \Gamma(n - j + 1)}{\Gamma(nx) n! \Gamma(nx + n + 1)} = \\ &= \frac{(nx)_j \Gamma(n - j + 1)}{\Gamma(n + 1)} = \frac{(nx)_j}{(n - j + 1)_j}. \end{aligned}$$

So we have  $(\mathcal{F}_n e_0)(x) = 1, (\mathcal{F}_n e_1)(x) = x$ , respectively

$$\begin{aligned} (\mathcal{F}_n e_2)(x) &= \frac{(nx)(nx + 1)}{(n - 2 + 1)_2} = \frac{nx(nx + 1)}{n(n - 1)} = \\ &= x^2 + \frac{x(1 - x)}{n - 1} \xrightarrow{n \rightarrow \infty} x^2 \end{aligned}$$

Starting from the theorem

**Theorem 3** (A. Lupaş [3]) *If*

$$\lim_{n \rightarrow \infty} (\mathcal{L}e_j)(x) = [\varphi(x)]^j, \quad j = 0, 1, 2$$

then

$$\lim_{n \rightarrow \infty} (\mathcal{L}f)(x) = f(\varphi(x)),$$

for  $f$  continuous on  $[0, M]$ ,  $M > 0$ .

Using theorem 3 it follows the following statement is true

**Theorem 4** *Let*  $f : [0, \infty) \rightarrow \mathbb{R}$ , *with*

$$|f(x)| \leq Mx^\alpha, \quad \alpha > 0, \quad M > 0,$$

when  $x \rightarrow \infty$ . *If*  $\mathcal{F}_n$  *are positive linear operators defined as is (1), then*

$$\lim_{n \rightarrow \infty} (\mathcal{F}f)(x) = f(x),$$

for  $f$  continuous on  $[0, M]$ ,  $M > 0$ .

A. Lupaş [5] prove the following proposition

**Theorem 5** *If*

$$L : C(K) \rightarrow C(K_1), \quad K_1 = [a_1, b_1] \subseteq K,$$

is a positive linear operator, then for all  $f \in C(K)$  and  $\delta > 0$  we have

$$\begin{aligned} \|f - Lf\|_{K_1} &\leq \|f\| \cdot \|e_0 - Le_0\|_{K_1} + \\ &+ \inf_{m=1,2,\dots} \{ \|Le_0\|_{K_1} + \delta^{-m} \|L\Omega_m\|_{K_1} \} \omega(f; \delta), \end{aligned}$$

where  $\|\cdot\| = \max_K |\cdot|$  and  $\Omega_m(t) = (t - x)^m$ .

We have the following theorem

**Theorem 6** *If*  $\mathcal{F}_n f$  *is define by (1), then for all*  $f \in Y_\alpha \cap C[0, \infty)$ ,  $\alpha \geq 2$  *we have*

$$\|f - \mathcal{F}_n f\| \leq \frac{5}{4} \omega \left( f; \frac{1}{\sqrt{n-1}} \right)$$

**Proof:** We consider  $m = 2$ ,  $\Omega_2(t) = (t - x)^2$ .

Taking into consideration the above we have (see [6], [8])

$$(\mathcal{F}_n \Omega_2)(x) = x^2 + \frac{x(1-x)}{n-1} - 2x^2 + x^2 = \frac{x(1-x)}{n-1},$$

choosing  $\delta = \frac{1}{\sqrt{n-1}}$  and using the fact that

$$x(1-x) \leq \frac{1}{4},$$

it follows

$$\|f - \mathcal{F}_n f\| \leq \frac{5}{4} \omega \left( f; \frac{1}{\sqrt{n-1}} \right).$$

In the following we consider the Post-Widder positive operator

$$(W_n f)(x) = \frac{1}{\Gamma(nx)} \int_0^\infty e^{-t} t^{nx-1} f\left(\frac{t}{n}\right) dt, \quad (12)$$

**Theorem 7** *For*  $\mathcal{F}_n f$  *operators defined in (1) we have*

$$\mathcal{F}_n f = W_n G_n f,$$

where  $W_n$  *are Post Widder operators,  $G_n f$  Gamma operators respectively.*

**Proof:** Starting from representation of Gamma operators

$$(G_n f)(x) = \frac{1}{n!} \int_0^\infty e^{-t} t^n f\left(\frac{nx}{t}\right) dt,$$

for  $x = \frac{t}{n}$  we have

$$(G_n f)\left(\frac{t}{n}\right) = \frac{1}{n!} \int_0^\infty e^{-s} s^n f\left(\frac{t}{s}\right) ds.$$

We calculate successively

$$\begin{aligned} (W_n G_n f)(x) &= \frac{1}{n! \Gamma(nx)} \cdot \int_0^\infty e^{-t} t^{nx-1} \left( \int_0^\infty e^{-s} s^n f\left(\frac{t}{s}\right) ds \right) dt = \\ &= \frac{1}{n! \Gamma(nx)} \int_0^\infty e^{-s} s^n \cdot \left( \int_0^\infty e^{-t} t^{nx-1} f\left(\frac{t}{s}\right) dt \right) ds. \end{aligned}$$

we change the variable  $\frac{t}{s} = y$ , that is  $t = ys$  and we have

$$\begin{aligned} (W_n G_n f)(x) &= \frac{1}{n! \Gamma(nx)} \int_0^\infty e^{-s} s^{n+nx} \cdot \left( \int_0^\infty e^{-ys} y^{nx-1} f(y) dy \right) ds = \frac{1}{n! \Gamma(nx)} \cdot \int_0^\infty \left( \int_0^\infty e^{-s(1+y)} s^{n+nx} ds \right) y^{nx-1} f(y) dy, \end{aligned}$$

we note that  $s(1+y) = T$ ,  $ds = \frac{1}{1+y} dT$  and we have

$$(W_n G_n f)(x) = \frac{1}{n! \Gamma(nx)} \int_0^\infty \frac{1}{(1+y)^{n+nx+1}} \cdot$$

$$\cdot \left( \int_0^\infty e^{-T} T^{n+nx} dT \right) y^{nx-1} f(y) dy,$$

but

$$\Gamma(n + nx + 1) = \int_0^\infty e^{-T} T^{n+nx} dT,$$

it follows

$$\begin{aligned} (W_n G_n f)(x) &= \\ &= \frac{\Gamma(n + nx + 1)}{n! \Gamma(nx)} \int_0^\infty \frac{y^{nx-1}}{(1 + y)^{n+nx+1}} f(y) dy = \\ &= \frac{(nx)_{n+1}}{n!} \int_0^\infty \frac{y^{nx-1}}{(1 + y)^{n+nx+1}} f(y) dy. \end{aligned}$$

We note  $\frac{y}{1 + y} = t, dy = \frac{1}{(1 - t)^2} dt$ , we have

$$(W_n G_n f)(x) = \frac{(nx)_{n+1}}{n!}.$$

$$\begin{aligned} &\int_0^1 \left( \frac{t}{1 - t} \right)^{nx-1} \frac{(1 - t)^{n+nx+1}}{(1 - t)^2} f \left( \frac{t}{1 - t} \right) dt = \\ &= \frac{(nx)_{n+1}}{n!} \int_0^1 t^{nx-1} (1 - t)^n f \left( \frac{t}{1 - t} \right) dt = \\ &= (\mathcal{F}_n f)(x). \end{aligned}$$

**References:**

[1] Agratini O., On a sequence of linear and positive operators, *Facta Universitatis (NIS), Ser. Math. Inform.* 14, 1999, 41-48.  
 [2] Korovkin P.P., Linear operators and approximation theory. *Fizmatgiz, Moskow 1959*, (also the translations: Delhi 1960 and Gordon and Breach, New York, 1960), MR 27 # 561.  
 [3] Lupaş A.; Müller M., Approximationseigenschaften der Gamma- operatoren. *Math. Z.* 98, 1967, 208–226, MR 35 # 7053.  
 [4] Lupaş A., The approximation by means of some positive linear operators, *Approximation Theory (IDoMAT 95)*, Akademie Verlag, Berlin, 1995, 201-229.  
 [5] Lupaş A., Contribuţii la teoria aproximării prin operatori liniari, *Teza de Doctorat*, Cluj-Napoca, 1975-1976.  
 [6] Sofonea F., Some results for modified Bernstein polynomials, *General Mathematics*, Vol. 10, Nr.3-4, 2002, 57-62.  
 [7] Sofonea F., Remainder in approximation by means of certain linear operators, *Mathematical Analysis and Aproximation Theory*, Burg Verlag, 2002, 255-258.

[8] Sofonea F., Some results from  $q$  - calculus, *Proceedings of The Tenth Symposium of Mathematics and its Applications*, November 6-9, Timişoara, ISSN 1224-6049, 2003, 151-156.  
 [9] Sofonea F., On a Sequence of Linear and Positive Operators, *Proceedings of PAMM Conference PC-144*, Balatonalmady, Hungary, May 20-23, 2004, in Bulletin for Applied & Computer Mathematics CVI (2004), No. 2171.  
 [10] Sofonea F., On a  $q$  - Analogue of A. Lupaş Operators, *Mathematical Analysis and Approximation Theory, RoGer2004*, ISBN 973-713-078-2, 2004, 211-223.  
 [11] Stancu D.D., Evaluation of the remainder term in approximation formulas by Bernstein polynomials, *Math. Comp.* 83, 1963, 270-278.